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Chapter 3
Decision Structures

( Test 1

1.
The _____ statement is used to make simple decisions in Java.

(a)
do/while

(b)
for

(c)
switch

(d)
if

Answer:
D, The If Statement

2.
Which of the following expressions will check to see if x is less than or equal to y?

(a)
x  y

(b)
x  y

(c)
x  y

(d)
x  y

Answer:
C, The If Statement

3.
What will be the value of x after the following code is executed?

int x  75;

int y  60;

if (x  y)

 x  x – y;

(a)
75

(b)
15

(c)
60

(d)
135

Answer:
B, The If Statement

4.
What will be the value of ans after the following code has been executed?

int x  65;

int y  55;

if (x  y)

 int ans  x  y;

(a)
10

(b)
120

(c)
100

(d)
No value, there is a syntax error

Answer:
B, The If Statement

5.
True/False An important style rule you should adopt for writing if statements is to write the conditionally executed statement on the line after the if statement.

Answer:
True, The If Statement

6.
What will be the value of ans after the following code has been executed?

int x  90, y  55, ans  10;

if ( x  y);

 ans * 2;

(a)
10

(b)
145

(c)
20

(d)
No value, there is a syntax error

Answer:
C, The If Statement, semicolon

7.
A block of code is enclosed in a set of

(a)
Braces

(b)
Parentheses

(c)
Double quotes

(d)
Brackets

Answer:
A, The If Statement

8.
A flag may have the values

(a)
0 and 1

(b)
1 and –1

(c)
True and False

(d)
Of any character

Answer:
C, The If Statement

9.
If chr is a character variable, which of the following if statements is correct?

(a)
if (chr  “a”)

(b)
if (chr  “a”)

(c)
if (chr  ‘a’)

(d)
if (chr  ‘a’)

Answer:
D, The If Statement

10.
In Java, when a character is stored in memory, it is actually as a(n) _____.

(a)
Unicode number

(b)
ASCII character code

(c)
EBCDIC character code

(d)
Morse code

Answer:
A, The If Statement

11.
True/False The if/else statement will execute one group of statements if its boolean expression is true or another group if its boolean expression is false.

Answer:
True, The If-Else Statement

12.
What will be the values of ans, x, and y after the following statements are executed?

int ans  35, x  50, y 50;

if (x  y)

{

ans  x  10;

x – y;

}

else

{

ans  y  10;

y  x;

}

(a)
ans  60, x  50, y 100

(b)
ans  60, x  0, y  50

(c)
ans  45, x  50, y  0

(d)
ans  45, x  50, y  50

Answer:
B, The If-Else Statement

13.
What will be the value of bonus after the following code is executed?

int bonus, sales  10000;

if (sales  5000)

 bonus  200;

else if (sales  7500)

 bonus  500;

else if (sales  10000)

 bonus  750;

else if (sales  20000)

 bonus  1000;

else

 bonus  1250;

(a)
200

(b)
500

(c)
750

(d)
1000

(e)
1250

Answer:
D, The If-Else-If Statement

14.
What would be the value of bonus after the following statements are executed?

int bonus, sales  1250;

if (sales  1000)

 bonus  100;

if (sales  750)

 bonus  50;

if (sales  500)

 bonus  25;

else

 bonus  0;

(a)
100

(b)
500

(c)
25

(d)
0

Answer:
C, The If-Else-If Statement

15.
What would be the value of bonus after the following statements are executed?

int bonus, sales  85000;

char dept  ‘S’;

if (sales  100000)

if (dept  ‘R’)

bonus  2000;

else

bonus  1500;

else if (sales  75000)

if (dept  ‘R’)

bonus  1250;

else

bonus  1000;

else

bonus  0;

(a)
2000

(b)
1500

(c)
1250

(d)
1000

Answer:
D, Nested If Statements

16.
True/False Because the && operator performs short-circuit evaluation, your boolean expression will usually execute faster if the subexpression most likely false expression is on the left.

Answer:
True, Logical Operators—this is a thought question

17.
Which of the following is the correct boolean expression to test for: int x being a value between, but not including, 500 and 650, or int y not equal to 1000?

(a)
((x  500 && x  650) && (y ! 1000))

(b)
((x  500 AND x  650) OR !(y.equal(1000)))

(c)
((x  500 && x  650) || (y ! 1000))

(d)
((x  500 && x  650) || !(y  1000))

Answer:
C, Logical Operators

18.
If str1 and str2 are both Strings, which of the following will correctly test to see if str1 is less than str2?

1.
(str1  str2)

2.
(str1.equals(str2)  0)

3.
(str1.compareTo(str2)  0)

(a)
1, 2, and 3 will all work

(b)
2

(c)
3

(d)
2 and 3

Answer:
C, Comparing String Objects

19.
To do a case insensitive compare which of the following could be used to test the equality of two strings, str1 and str2?

(a)
(str1.equalsIgnoreCase(str2))

(b)
(str1.compareToIgnoreCase(str2)  0)

(c)
Only (a)

(d)
(a) and (b)

Answer:
D, Comparing String Objects

20.
True/False A local variable’s scope always ends at the closing brace of the block of code in which it is declared.

Answer:
True, More About Variable Declaration and Scope

21.
What will be the value of pay after the following statements are executed?

int hours  45;

double pay, payRate  10.00;

pay  hours  40 ; hours * payRate : 40 * payRate  (hours – 40) * payRate * 1.5

(a)
400.00

(b)
450.00

(c)
465.00

(d)
475.00

Answer:
D, The Conditional Operator

22.
What would be the value of x after the following statements are executed?

int x  10;

switch (x)

{

case 10:

x  15;

case 12:

x – 5;

break;

default:

x * 3;

}

(a)
5

(b)
20

(c)
25

(d)
30

Answer:
C, The Switch Statement

23.
True/False When testing for character values, the switch statement does not test for the case of the character.

Answer:
False, The Switch Statement

24.
What will be printed when the following code is executed?

double x  45678.259;

DecimalFormat formatter  new DecimalFormat(“#,###,##0.00”);

System.out.println(formatter.format(x));

(a)
45678.259

(b)
0,045,678.26

(c)
45,678.26

(d)
45,678.3

Answer:
C, The Decimal/Format Class

25.
Which of the following will format 12.78 to display as 12.8%?

(a)
000.0%

(b)
#0.00%

(c)
###.##%

(d)
##0.0%

Answer:
D, The Decimal/Format Class
















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































